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1.Zis a complex number. If 1 Z| = 4 and arg(Z) = %,then the
value of Z is
A a)—2,/3+20
B.b)2/3 + 2i

C.0)2/3 — 2i


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LMn9ZJa8M4Df

D.d)—+/3 + i

Answer:

o Watch Video Solution

2. The amplitude of the complex no is (a<0) is

A.a)0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_LMn9ZJa8M4Df
https://dl.doubtnut.com/l/_icoAVaTEalG8
https://dl.doubtnut.com/l/_C2HuwOnilnCG

3. For real x,the least value of (x-2)(x-3)+1is__

A.a)3/2

B. b)3/4

C.0)3

D.d)None of these

Answer:

° Watch Video Solution

4. The sum of first 5 terms of an arithmetic progression is

80,third term will be

A.a)16

B. b)25


https://dl.doubtnut.com/l/_C2HuwOnilnCG
https://dl.doubtnut.com/l/_2J02WrH36XVG

C.0)10

D.d)12

Answer:

° Watch Video Solution

4
5. If sinf = gand O=positive acute angle then the value of
tan20
A.a)-24/7
B. b)24/7
C.c)7/24

D. d)-7/24

Answer:



https://dl.doubtnut.com/l/_2J02WrH36XVG
https://dl.doubtnut.com/l/_AVbnu7d5RqTs

| ° Watch Video Solution

6. The greatest value of 3cos 6 + 4sinf + 15is

A. a)10

Answer:

° Watch Video Solution

cos2° +sin2°
7.The value of = * —— s
cos2” — sin2

A. a)tan47°


https://dl.doubtnut.com/l/_AVbnu7d5RqTs
https://dl.doubtnut.com/l/_pMzuuT3TYyYr
https://dl.doubtnut.com/l/_rX29sU2PkYY6

B.b)tan43°

C.c)tan2°

D. d)cot 2°

Answer:

° Watch Video Solution

8. The value of sin200° + cos200°is

A. a)Negative

B. b)Positive

C.c)Zero

D. d)Zero or positive.

Answer:


https://dl.doubtnut.com/l/_rX29sU2PkYY6
https://dl.doubtnut.com/l/_M1A7zPJwgQHE

o Watch Video Solution

9. If x=t+(1/t), y=t-(1/t) and t=parameter then the locus of the
point (x,y) is

Aa)z:+y? =4

B. b)xy=4

Co?—y =4

D. d)x-y=4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_M1A7zPJwgQHE
https://dl.doubtnut.com/l/_dH3J1OIEh6Ls

10. The distance between the two straight lines 3x+4y-9=0 and

6x+8y-15=0 is

A.a)3/2 unit

B. b)3/10 unit

C.c)6 unit

D.d)none

Answer:

o Watch Video Solution

1. if the Pth term of an AP. is q and qth term is P.Then show

that the nth term is p+q-n

° Watch Video Solution



https://dl.doubtnut.com/l/_v2fCQtD2uPcA
https://dl.doubtnut.com/l/_gCEtQ9rIqEDd

100 100
1++—3 1—+v -3
12. Find the value of (%) + (T)

o Watch Video Solution

13. If aand B be two roots of the equation (x-a)(x-b)=c then

show that a and b are the roots of (z — a)(z — 8) + ¢ =0

o Watch Video Solution

14. Evaluate
2 Z) 2 3_77 2 5_7" 2 7_7"
cos(8 +cos<8)+cos(8)+cos<8

° Watch Video Solution



https://dl.doubtnut.com/l/_gCEtQ9rIqEDd
https://dl.doubtnut.com/l/_LTIgjg4Vy0oH
https://dl.doubtnut.com/l/_Gb7bh699iG17
https://dl.doubtnut.com/l/_f977ugI6Gphu

2 2
15. If cosa + cos B = gand sina + sin 8 = gthen find the

o+ B
)

vwvalue of ta,n(

° Watch Video Solution

16. If cosecl + secl = coseca + secathen show that

tan<0+a> = cot 0 cot «

2

o Watch Video Solution

17. x=2cost+3y=2sint+5 and t=parameter find the locus of the

point (x.y)

° Watch Video Solution



https://dl.doubtnut.com/l/_eSAyCvRIRqFZ
https://dl.doubtnut.com/l/_f9clUq2BMGYn
https://dl.doubtnut.com/l/_OjgX3Gqk37iT

18. Find the equations of a straight line parallel to x-axis and

passes through (3,-5)

o Watch Video Solution

19. Prove by mathematical induction ,32"*! + 2" 2js divisible

by7n € N

° Watch Video Solution

20. Factorise:z® + y* + 2% — zy — yz — 2z

o Watch Video Solution

21.Solve :2y*> + 3y +8 —6i =0


https://dl.doubtnut.com/l/_OC1i9kccgTjq
https://dl.doubtnut.com/l/_FqmLZPWytirq
https://dl.doubtnut.com/l/_dPXwkPn2QlK1
https://dl.doubtnut.com/l/_UQJWU7yQysVD

o Watch Video Solution

22. The sum of first three terms of an arithmetic progression
with n terms is x and the sum of last three terms is y.Show that

the sum of n terms is n/6(x+y)

o Watch Video Solution

V3 1

23.Show that — — =4
sin 20° cos 20°

o Watch Video Solution

24.If tan(a + B) = a + b and tan(a — 8) = a — b then show

that atana — btan 8 = a? — b

o Watch Video Solution



https://dl.doubtnut.com/l/_UQJWU7yQysVD
https://dl.doubtnut.com/l/_RtC25MdqUQmu
https://dl.doubtnut.com/l/_3idgS8fQPXVz
https://dl.doubtnut.com/l/_1StiQwJKIixB

o

1
25. Show that,tan7<7> =6—3+2-2

° Watch Video Solution

26. Show that the area of the triangle formed by the lines

(c1 — )’

2|my — my|

y=mix +c,y=max +c2 and x =0 is

o Watch Video Solution

27. Find the co-ordinate of the orthocentre of a triangle whose

vertices are A(-2,-3),B(6,1)and C(1,6).

o Watch Video Solution



https://dl.doubtnut.com/l/_1StiQwJKIixB
https://dl.doubtnut.com/l/_EkjseewXjG37
https://dl.doubtnut.com/l/_tvx0WEJDhkBk
https://dl.doubtnut.com/l/_VPKBWjUNlf6Q
https://dl.doubtnut.com/l/_3pk6w2nj6grE

z—1
28.If arg = z,, then show that in complex plane, the
z+1 4

locus of z is a cricle.

° Watch Video Solution

29.Find the sum of n terms of 12+105+1008+10011+....

° Watch Video Solution

30. Show that
sin?(z + a) + sin®(z + ) — 2cos(a — B). sin(z + a)sin(z + B)

is independatn of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_3pk6w2nj6grE
https://dl.doubtnut.com/l/_KHS8MiLPbWHi
https://dl.doubtnut.com/l/_IKKzXk2p3dWV

31. If cosa = cos B3 = and cosy = then
y+z z+x T +y
show that tan2<%> + tan? (g) + tan2(%) =1

° Watch Video Solution

32. A variable straight line passes through the point of
intersection of the staright lines x/a+y/b=1 and x/b+y/a=1 and

intersects the axes at P and Q.Find the locus of mid-point of Pq.

o Watch Video Solution

33. Find the maximum value of 24z — 8 — 92 for real x

>

%
e w| ik


https://dl.doubtnut.com/l/_M7jLqCnVzTT5
https://dl.doubtnut.com/l/_CtjQSuOBjjHz
https://dl.doubtnut.com/l/_MletDIRMNZnx

C.8

D. none of these

Answer:

° Watch Video Solution

34. Marks of students in a test is

A. attribute

B. discrete variable

C. continuous variable

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MletDIRMNZnx
https://dl.doubtnut.com/l/_tASDepS197DC

35. Mode depends on change of

A. origin only

B. scale only

C. both origin and scale

D. neither origin nor scale

Answer:

° Watch Video Solution

36. A train ran at x km per hour from A to B and returned from B

to A at y km for hour. The average speed (in km hour) is

r+vy
2

A


https://dl.doubtnut.com/l/_tASDepS197DC
https://dl.doubtnut.com/l/_G0GhnQ0CGm6X
https://dl.doubtnut.com/l/_Ugx9WKfRaDKL

B. \/xy

2zy
r+y

C.

D. none of these

Answer:

° Watch Video Solution

37. The mode can be obtained geometrically from

A. ogive

B. histogram

C. frequency polygon

D. none of these

Answer:


https://dl.doubtnut.com/l/_Ugx9WKfRaDKL
https://dl.doubtnut.com/l/_EojUOMHL93jn

° Watch Video Solution

38. Bar diagrams are applicable to represent.

A. time series data

B. spatial series data

C.bothaandb

D. none of these

Answer:

° Watch Video Solution

39. What is the difference between line diagram and ratio

chart?

| o |


https://dl.doubtnut.com/l/_EojUOMHL93jn
https://dl.doubtnut.com/l/_qOQmMugY9UGQ
https://dl.doubtnut.com/l/_GOxnVL8fhWyC

[ & Watch Video Solution ]

40. Define frequency density of a class interval.

o Watch Video Solution

41.The AM.of1,2,22,...2° is (fill in the blanks)

o Watch Video Solution

42.The difference between the upper and lower limits of a class

interval is its width. (write True or false)

° Watch Video Solution



https://dl.doubtnut.com/l/_GOxnVL8fhWyC
https://dl.doubtnut.com/l/_gvhbh15waFRy
https://dl.doubtnut.com/l/_UAeMiwUStO5I
https://dl.doubtnut.com/l/_y2FAlztujldX

43. Describe cross sectional data with their utility.

o Watch Video Solution

44, Define ordianl and nominal data.

o Watch Video Solution

45. If the relation between two variables y and xis ¢ — 3y = 6

and S.D. of y is 2, then find the variance of ’x.

o Watch Video Solution

46. What are the merits of arithmetic mean?

° Watch Video Solution



https://dl.doubtnut.com/l/_UriutURa7cIg
https://dl.doubtnut.com/l/_KWsKo1Faic33
https://dl.doubtnut.com/l/_8qoEaPIs5G8u
https://dl.doubtnut.com/l/_sT9VFe9Td2An

47. Write the two meanings of statistics.

° Watch Video Solution

48. Write down the merits and demerits of mass questionnaire

method.

° Watch Video Solution

49, Write the significance of E.TS.

o Watch Video Solution



https://dl.doubtnut.com/l/_sT9VFe9Td2An
https://dl.doubtnut.com/l/_Vdg7bVsBJqhY
https://dl.doubtnut.com/l/_kK6RGNd4gFAW
https://dl.doubtnut.com/l/_FYOCEhDddzWg

50. Compare bantulation with diagrammatic representation of

data.

o Watch Video Solution

51. How would you construct a frequency distribution of a

continuous variable?

° Watch Video Solution

5. If £ >0,y >0,2>0 and z+y+ 2z =1, prove that

(T+2)(1+y)(1+2) >8(1—-=z)(1-y(1-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_c0KONXiJUi4o
https://dl.doubtnut.com/l/_g4Y54zRjO6AN
https://dl.doubtnut.com/l/_4PJlE2itkobK

53.Find the arithmetic mean of 7,77,777._upto p™ term.

o Watch Video Solution

54. If the values of a variable are in G.P, then prove that AM,,

G.M., H.M. of the values are also in G.P.

o Watch Video Solution

55. For a set of positive quantities, Prove that

A M. >GM > H. M..

o Watch Video Solution

56. Show that Z (z; — A)? is minimum when A = Z.
i—1


https://dl.doubtnut.com/l/_OyfwhyfR4HJ3
https://dl.doubtnut.com/l/_IK5m4bmGdePS
https://dl.doubtnut.com/l/_ZuVZ7m7oVBgg
https://dl.doubtnut.com/l/_KX3euKzNm05i

o Watch Video Solution



https://dl.doubtnut.com/l/_KX3euKzNm05i

